BC Calculus – FDW 3rd Edition – Section 9.5 Even Answers

Quick Review 9.5

2. Diverges: Limit Comparison Test with 1/x   4. Converges: Comparison Test with 2/x2 

6. yes   8. no   10. no

Section 9.5

2. C: 
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   4. k = 31   6. C: use 
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   8. D   10. D   12. C   14. C   16. C   18. C  

20. C   22. D   24. C: absolutely, 
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   26. C: absolutely, 
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   28. C absolutely

30. Converges absolutely   32. C conditionally   34. see #25 (a) The positive terms diverge to 
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 and the negative terms diverge to 
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. (b) Add the positive terms until the sum is greater than 4, then add negative terms until the sum is less than 4. Now continue noting that the decreasing magnitude of the terms means the sums will get closer and closer to 4.
36.(a) (-6,-4)  (b) (-6,-4)  (c) none   38.(a) (1/3,1)  (b) (1/3,1)  (c) x = 1/3

40.(a) (-1,1)  (b) (-1,1)  (c) none   42.(a) all reals  (b) all reals  (c) none 

44.(a) (-4,4)  (b) (-4,4)  (c) x = -4   46.(a) at x = 4  (b) at x = 4  (c) none

48.(a) (1,3/2)  (b) (1,3/2)  (c) none   50.(a) (1/e,e)  (b) (1/e,e)  (c) none

52. Comparing the figures we have: 
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     If the integral diverges, the series increases without bound and is divergent also.

     If the integral converges, then the series increases but with an upper bound, hence C.

54.(a) D: Limit Comparison Test with 
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  (b) D: nth-term test  

     (c) C absolutely by the Direct Comparison Test with 
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  (d) D: Integral Test

56. 
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58.(a) 
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  (b) C: Alt. Series Test  (c) S1 = 2, S2 = 1, S3 = 5/3, S4 = 7/6 or 1.167, S5 = 47/30 or 1.567 (darn!)… what we’re trying to get are two consecutive partial sums between 1 & 1.5 so I’ll use the text book’s sums of S8 =  533/420 or 1.269 and 

S​9 = 1879/1260 or 1.491. Then 1 < S8 < S < S9 < 1.5 which ‘was to be demonstrated’.

60.(a) 
[image: image12.wmf](

)

1

23

1

23

......

n

n

x

xx

n

x

+

-

-+-++

  (b) 
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  (c) 
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 (d) 
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62.(a) Direct Comparison Test with 
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 (b) D: Integral Test  (c) Direct Comparison: 
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64. Alt. Series Test  66. True. Endpoints are 
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 converges at each endpoint.
68. B   70. E   72. Sounds like quiz material!  74.(a) (-3,5)  (b) (-1,5)  (c) (-½, ½)  (d) (1/e,e)
Quick Quiz – Sections 9.4 – 9.5

2. E   4.(a) By the Ratio Test, C absolutely:(-2,1)  (b) nth-term test, D at endpoints, so (-2,1)
BC Calculus – Chapter 9 – Review Exercises – Even Answers
2.(a) 3 (b) [-7,-1] (c) (-7,-1) (d) -7   4.(a) 
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 (b) reals (c) reals (d) none

6.(a) 1 (b) (-1,1) (c) (-1,1) (d) none   8.(a) 
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 (b) reals  (c) reals (d) none

10.(a) 1/e (b) [-1/e,1/e] (c) [-1/e,1/e] (d) none   12.(a) 1 (b) [0,2] (c) (0,2) (d) x = 0, x = 2

14.(a) 1/10 (b) [-.1,.1] (c) (-.1,.1) (d) -1/10   16.(a) 
[image: image22.wmf]3

 (b) 
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18. 
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24. 
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   26. 
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28. 
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   30. 
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32. 
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   34. 
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36. 
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 finite: 0’s after n = 3

40. 
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42. C conditionally: Alt Series Test and p = ½   44. C absolutely: Ratio Test

46. Absolute C: Integral Test   48. Abs. C: nth-root test or ratio test

50. Abs. C: Direct Comparison Test with 
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   52. D: nth-term test for divergence

54. -1   56.(a) 
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 (d) No. We would need the entire series and convergence at x = 3.  58.(a) 
[image: image42.wmf]23

1248...(2)...

n

xxxx

++++++

  (b) geometric convergence for -1 < 2x < 1, hence 
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  (c) f(-1/4) = 2/3, so one percent is about .0067. It takes 7 terms through degree 6. Trial and error.  

60.(a) 
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     (b) 
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     (c) at x = 3.5 since the 3rd term size is 1/24 < .05, we can just use the 1st two terms, .375

62.(a) 
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 (b) No. Sequence of partial sums is 1,0,1,0,… no limit 

64.(a) .88566  (b) 41/60 or .68333  (c) concave up, hence Pn is larger (d) Since the derivatives > 0 and x > 0, the remainders are all positive and Pn is smaller. (e) e – 2 or .718
66. $16,666.67 assuming 1st payment at the end of the year

68.(a) 
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  (b) 
[image: image48.wmf]2

3

b

  (c) No, not every point is removed. The remaining points are ‘isolated’ enough that there are no regions and no area remaining.
70.(a) and replacing 
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 with 
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72.(a) 
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 by the Ratio Test for absolute convergence, then testing the endpoints.

     (b) Convergence of Alt Series at x = 1, so the error after 9 terms is 
[image: image53.wmf]10

10

2

.01

<<

 
_1276330870.unknown

_1276332166.unknown

_1276332822.unknown

_1276333182.unknown

_1276333774.unknown

_1276334034.unknown

_1276334083.unknown

_1276334207.unknown

_1276334045.unknown

_1276333930.unknown

_1276333414.unknown

_1276333754.unknown

_1276333267.unknown

_1276332995.unknown

_1276333057.unknown

_1276332901.unknown

_1276332537.unknown

_1276332727.unknown

_1276332781.unknown

_1276332662.unknown

_1276332322.unknown

_1276332369.unknown

_1276332259.unknown

_1276331624.unknown

_1276331858.unknown

_1276332006.unknown

_1276332095.unknown

_1276331901.unknown

_1276331753.unknown

_1276331801.unknown

_1276331713.unknown

_1276331420.unknown

_1276331595.unknown

_1276331619.unknown

_1276331461.unknown

_1276330974.unknown

_1276331027.unknown

_1276330919.unknown

_1276330063.unknown

_1276330694.unknown

_1276330801.unknown

_1276330814.unknown

_1276330781.unknown

_1276330159.unknown

_1276330223.unknown

_1276330110.unknown

_1276329352.unknown

_1276329504.unknown

_1276329884.unknown

_1276329483.unknown

_1276329258.unknown

_1276329313.unknown

_1276329193.unknown

